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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. Explain the importance of good Industrial Relations System.

Give suggestions for building a sound Industrial Relations System in India.
(15)
OR
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What is Industrial Relations System ? Explain the factors influencing industrial
relations system in India.
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Explain the difference between the following :

(a) Industrial Relations and Human Relations (7)
(b) Industrial Relations and Contractual Relations (8)
OR

What are characteristics of Industrial dispute ? Explain with examples the difference
between legal strike and illegal strike. (15)
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What is difference between voluntary and compulsory arbitration? Which method
is more suitable for settlement of industrial disputes?
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OR

Discuss the formation and functions of Works committee. How far they have

been able to get success in maintaining industrial peace ? (15)
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“The welfare officer is a watch dog but not a blood hound”. Explain the statement
with respect to the duties and responsibilities of welfare officer. (15)

OR

What are the difficulties in the growth of a healthy industrial relations system in
India ? Can it not be possible to remove these difficulties for all the time to
come 7 Give suggestions.
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Write short note on any three of the following :
(a) Labour welfare officer

(b) Wage board
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(¢) Standing order
(d) Code of discipline

(¢) Profit sharing (5 marks each)
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